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QUESTION 1

To which wireless device category do a hardwire desktop PC belongs?
A. stationary devices

B. somewhat mobile devices

C. highly mobile devices

D. intermittent mobile devices

Correct Answer: C

QUESTION 2

What is a true statement about wireless communications using Wi-Fi?

A. Amplitude, phase, and frequency of radio waves are modulated to transmit data
B. Wireless communications have a maximum range of 10 meters (30 feet)

C. Amplitude, phase, and frequency of radio waves are modulated to increase range
D. Wireless communications have a minimum range of 10 meters (30 feet)

Correct Answer: C

QUESTION 3

Which command should you enter to access the second interface of the third slot in a modular ArubaOS-CX switch?
A. Interface 0/3/2

B. Interface 0/2/3

C. Interface 1/3/2

D. Interface 3/1/2

Correct Answer: D

QUESTION 4
On which connection type are collisions more likely to happen?
A. Dark Fiber

B. Fiber
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C. Copper
D. Wi-Fi

Correct Answer: D

QUESTION 5

Why do clients run the Address Resolution Protocol (ARP)?

A. To discover the destination address of the Layer 3 header of IP packets.

B. To discover the source address of the Layer 3 header of IP packets.

C. To discover the destination address of the Layer z header that encapsulates IP packets.
D. To discover the source address of the Layer z header that encapsulates IP packets.

Correct Answer: B
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